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TELECOMMUNICATION & SWITCHING NETWORKS

fFufa o . a9 [AfreRam 37 : 70
Time allowed : Three Hours] [Maximum Marks : 70
S () YYH I G 8, 99 7 8 el wia & IR Ao |
Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(i) ¥ F9 & ¥ YT &1 FHGR Tk GI<J g7 B |
Solve all parts of a question consecutively together.
(iii) 3% F¥ H 79 §8 & IRE Ao |
Start each question on fresh page.
(iv) @1 9791371 377 817 @1 R 7 37 argare S w2

Only English version is valid in case of difference in both the languages.

1. () ¥eash & “fafam amar aRnaed g ?

What is meant by “Switching Capacity” of Network ?

(i)  STITANT TTFA <HT T ITATT & 7

What is the use of Application Software ?

(iti) Iofa: HARTE Feaeh & 18 g o fafa |

Write any two advantage of full connected network.

(iv) 3TEY YTl 8 T arcdd & ?
What is meant by blocking probability ?

(v) I LAN tarsi o am foarfau |
Write name of any two LAN topology. (2x5)

2. () ToETferd SefieH veeEs | e g aret fafi= g ot T |

Explain various tones used in automatic telephone exchange.

(i) Te 3MW 6! TgRIar & EPABX &l SRIUITe! Twemsy |
Explain the working of EPABX with the help of block diagram. (6x2)
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3. () SOl o e § wigearr nfched=r i awssgd |

Explain the software architecture in Electronic Space Switching.

(ii) Terafa SPC e SHgiiehd SPC % HE 3R aTgd |
Differentiate between distributed SPC and centralized SPC. (6x2)

4. () 3 (39e) Tafa e faum v e =t T |

Explain input controlled time division space switch.

(i) =@ fawrisa o gw fawfra feafim & ver s sy |

Differentiate between space division and time division switching. (6x2)

5. () o 3fthes WR T 2tk TTICll bl THSY |
Explain network traffic load and parameters in traffic. i
(ii) TTRie fsha Bl 3Eeh! Uil Td WET % WY THITEY |

Explain Markov process with its importance and utility. (6x2)

6. (i) LAN, MAN 3T WAN 3 Hg %l 3<R fTReq |
Write down the difference between LAN, MAN and WAN.

(i) PSTN W fdre fewuft faRaw |
Write short note on PSTN. (6x2)

7. () € UTEh! % ST hict LA S o ford fopd S aTet sh1t bt =orerg HIfvT |
Write the sequence of basic steps to process a call between subscribers.
(i) ST TS T ¢ I G |
Explain subscriber line and trunk. (6x2)
8. fom o @ foneedl & w wftre fewaforart ferfae -
Write short notes on any twe :
(i) TIcSS T THBIcSS Hede
Folded and Non-folded network
(i) STS 3R TST fea=
STS and TST switch
(i) g T s <t feafam ewan |
Switching capacity of two Stage Network (6x2)




